L I8 B =4
D EIENAE / 5 &R

XIS - ERT AR EEME

EH 22120.
/ ‘ =ik
Q‘ /) ERTH RSN A R RERA,
: TERTMM 6, 8 & 10 HABEM A,

-~
R 2R
YRLUEE EZEm
W, RE, BERR N .
. TR B < EUWE EAT2EREND EEME
- EUWE, BATHEBEM D EEME
K
- W, RR
o T 1.4305
&
gy
threaded pin
ds )
/ with brass bolt
¢ \ 1Y
== €| to L
17 L | [ L
m \~ 7 I 1 : 1
—_ I | It
| 111
K K ~_ ®
l
2
d countersink for cylinder head stud
2 ISO 4762 ®
T + T T
o el 1! Q) 7\
1~ T L\ \~4
picture 1 picture 2
iTHER
2 § [
d, d, d; d, k Iy I, 5 s max.
+0,1 ~
[mm] [°C] [a]
EEF MoERRTT - A 1,50
M12x1,5 32 M5 45 21 22 26,5 9 12 250 43 22120.0345
M16 x 1,5 46 M8 55 32 33 38,0 13 15 250 122 22120.0346
M20 x 1,5 46 M8 5,5 32 33 38,0 13 15 250 109 22120.0350
B EESFIBRMSBEME - B 2,
M12x1,5 32 M5 45 21 22 26,5 9 12 250 37 22120.0347
M16 x 1,5 46 M8 55 32 33 38,0 13 15 250 106 22120.0348
M20 x 1,5 46 M8 55 32 33 38,0 13 15 250 94 22120.0352
EEFL 2 BRI FT - A 1, THEW
M12x1,5 32 M5 45 21 22 26,5 9 12 250 43 22120.0545
M16 x 1,5 46 M8 55 32 33 38,0 13 15 250 122 22120.0546
M20 x 1,5 46 M8 55 32 33 38,0 13 15 250 109 22120.0550
BEELEESFIBRMAZECME - B 2, THEE
M12x1,5 32 M5 45 21 22 26,5 9 12 250 37 22120.0547
M16 x 1,5 46 M8 55 32 33 38,0 13 15 250 106 22120.0548
M20 x 1,5 46 M8 55 32 33 38,0 13 15 250 94 22120.0552
182
tNHALDER

& 7£: 20.7.2024



http://halder.com/cn/22120.0345
http://halder.com/cn/22120.0346
http://halder.com/cn/22120.0350
http://halder.com/cn/22120.0347
http://halder.com/cn/22120.0348
http://halder.com/cn/22120.0352
http://halder.com/cn/22120.0545
http://halder.com/cn/22120.0546
http://halder.com/cn/22120.0550
http://halder.com/cn/22120.0547
http://halder.com/cn/22120.0548
http://halder.com/cn/22120.0552

LA e BF 4
DEIEMA / 5o EIRE

s

Az Peatl)

g

For detailed compliance information please select the desired article number.

ENHALDER T 28 2

& 7£: 20.7.2024



